ORD #0429-2018, Division of Water Stephen Dr. Area Water Line Improvements C.I.P. No. 690236-100080, Contract No. 2055

Bid T	Tabula	ation, Opened 1/24/18		Engineer's Estimate		Underground Utilities, Inc.			Beheler Excavating Inc.			
Ref#	Item#	Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension
		PAVEMENT PLANING, ASPHALT										
1	254	CONCRETE	18,545	SY	\$2.50	\$46,362.50	\$1.68	\$0.72	\$44,508.00	\$0.01	\$2.50	\$46,547.95
		DRIVEWAY REPL. TYPE III A			* - - - 0 0	44.04.00		****		****	4	* * * * * * * * * * * * * * * * * * * *
2	259	(ASPHALT)	3	CY	\$675.00	\$2,025.00	\$595.00	\$255.00	\$2,550.00	\$325.00	\$325.00	\$1,950.00
		DRIVEWAY REPL. TYPE III B	20	CV.	фооо оо	#16.000.00	ф 2 00 00	φ1 2 0.00	ФО ООО ОО	#10.00	ф10.00	ф.400.00
3	259	(CONCRETE)	20	CY	\$800.00	\$16,000.00	\$280.00	\$120.00	\$8,000.00	\$10.00	\$10.00	\$400.00
	250	DRIVEWAY REPL. TYPE III C	1.0	CV	\$200.00	¢4 000 00	\$25.00	¢15 00	\$900 00	¢44.00	\$44.00	¢1 400 00
4	259	(GRAVEL)	16	CY	\$300.00	\$4,800.00	\$35.00	\$15.00	\$800.00	\$44.00	\$44.00	\$1,408.00
5	407	TACK COAT	2,782	GAL	\$3.50	\$9,737.00	\$1.33	\$0.57	\$5,285.80	\$1.50	\$1.00	\$6,955.00
		ASPHALT CONCRETE SURFACE COURSE (MEDIUM TRAFFIC),										
6	448	PG64-22	773	CY	\$220.00	\$170,060.00	\$140.00	\$60.00	\$154,600.00	\$100.00	\$100.00	\$154,600.00
7	608	CONCRETE WALK (4")	2,850	SF	\$15.00	\$42,750.00	\$11.20	\$4.80	\$45,600.00	\$4.00	\$4.00	\$22,800.00
8	614	MAINTAINING TRAFFIC	1	LS	\$93,000.00	\$93,000.00	\$3,500.00	\$1,500.00	\$5,000.00	\$0.00	\$100,000.00	\$100,000.00
9	615	TEMPORARY PAVEMENT	4,320	SY	\$10.00	\$43,200.00	\$0.07	\$0.03	\$432.00	\$1.00	\$1.00	\$8,640.00
10	659	SEEDING & MULCHING	3,636	SY	\$6.00	\$21,816.00	\$2.80	\$1.20	\$14,544.00	\$5.00	\$5.00	\$36,360.00
11	801	6" WATER PIPE & FITTINGS	1,517	LF	\$125.00	\$189,625.00	\$70.70	\$30.30	\$153,217.00	\$32.00	\$44.00	\$115,292.00
12	801	8" WATER PIPE & FITTINGS	13,791	LF	\$115.00	\$1,585,965.00	\$72.98	\$31.27	\$1,437,711.75	\$36.00	\$44.00	\$1,103,280.00
		CONCRETE BLOCKING, CLASS C,										
13	801*	INCR OR DECR	115	CY	\$130.00	\$14,950.00	\$7.00	\$3.00	\$1,150.00	\$10.00	\$10.00	\$2,300.00
		DUCTILE IRON FITTINGS, INCR										
14	801*	OR DECR	3,000	LBS	\$3.50	\$10,500.00	\$0.07	\$0.03	\$300.00	\$2.76	\$2.76	\$16,560.00
15	802	6" VALVE & APPURTENANCES	42	EA	\$1,600.00	\$67,200.00	\$840.00	\$360.00	\$50,400.00	\$990.00	\$250.00	\$52,080.00
16	802	8" VALVE & APPURTENANCES	27	EA	\$1,900.00	\$51,300.00	\$1,050.00	\$450.00	\$40,500.00	\$1,260.00	\$275.00	\$41,445.00
17	805	2" CURB STOP	1	EA	\$725.00	\$725.00	\$560.00	\$240.00	\$800.00	\$250.00	\$250.00	\$500.00
		3/4" WATER SERVICE TAP, XFR'D,										
18	805	SHORT	167	EA	\$1,500.00	\$250,500.00	\$525.00	\$225.00	\$125,250.00	\$250.00	\$1,100.00	\$225,450.00
		3/4" WATER SERVICE TAP, XFR'D,										
19		LONG	133	EA	\$1,800.00	\$239,400.00	\$595.00	\$255.00	\$113,050.00	\$300.00	\$1,500.00	\$239,400.00
20	805*	CURB BOX	300	EA	\$90.00	\$27,000.00	\$49.00	\$21.00	\$21,000.00	\$70.00	\$25.00	\$28,500.00
		C.I. FERRULE VALVE BOX &										
21	805*	COVER	4	EA	\$115.00	\$460.00	\$35.00	\$15.00	\$200.00	\$100.00	\$100.00	
22	809	FIRE HYDRANT	35	EA	\$3,300.00	\$115,500.00	\$1,540.00	\$660.00	\$77,000.00	\$1,400.00	\$500.00	\$66,500.00
23	810*	6" HYDRANT EXT.	5	EA	\$400.00	\$2,000.00	\$35.00	\$15.00	\$250.00	\$250.00	\$125.00	\$1,875.00
24	810*	12" HYDRANT EXT.	5	EA	\$450.00	\$2,250.00	\$35.00	\$15.00	\$250.00	\$280.00	\$125.00	\$2,025.00
25	810*	18" HYDRANT EXT.	5	EA	\$500.00	\$2,500.00	\$35.00	\$15.00	\$250.00	\$320.00	\$125.00	\$2,225.00
26	810*	24" HYDRANT EXT.	5	EA	\$550.00	\$2,750.00	\$35.00	\$15.00	\$250.00	\$360.00	\$125.00	\$2,425.00
		INCR OR DECR IN EXCAVATION	40-				<u> </u>		*	a	.	*
27		& BACKFILL	100	CY	\$55.00	\$5,500.00	\$7.00	\$3.00	\$1,000.00	\$20.00	\$20.00	
28	815	CRUSHED STONE OR GRAVEL	50	CY	\$80.00	\$4,000.00	\$35.00	\$15.00	\$2,500.00	\$20.00	\$20.00	\$2,000.00
29	816	2" WATER MAIN ABANDONED	1	EA	\$1,500.00	\$1,500.00	\$1,400.00	\$600.00	\$2,000.00	\$200.00	\$1,500.00	\$1,700.00
30	SPEC	SEDIMENT & EROSION CTRL	1	LS	\$30,000.00	\$30,000.00	\$1,400.00	\$600.00	\$2,000.00	\$0.00	\$35,000.00	\$35,000.00

Bid Tabulation, Opened 1/24/18					Engineer's Estimate		Underground Utilities, Inc.			Beheler Excavating Inc.		
Item#	Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension	
SPEC	PERM. PAVEMENT REPL., TYPE I	1,211	CY	\$295.00	\$357,245.00	\$140.00	\$60.00	\$242,200.00	\$150.00	\$150.00	\$363,300.00	
SPEC	HEAT WELD	143	SY	\$150.00	\$21,450.00	\$37.80	\$16.20	\$7,722.00	\$30.00	\$30.00	\$8,580.00	
SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$2,100.00	\$900.00	\$3,000.00	\$0.00	\$35,000.00	\$35,000.00	
SPEC	PROJECT I.D. SIGNS	12	EA	\$800.00	\$9,600.00	\$210.00	\$90.00	\$3,600.00	\$250.00	\$250.00	\$6,000.00	
SPEC	ASPHALT SPEED HUMP REPL.	1	EA	\$3,750.00	\$3,750.00	\$3,360.00	\$1,440.00	\$4,800.00	\$2,800.00	\$2,800.00	\$5,600.00	
SPEC	2" COPPER TUBING & FITTINGS	213	LF	\$100.00	\$21,300.00	\$77.00	\$33.00	\$23,430.00	\$50.00	\$50.00	\$21,300.00	
SPEC	TEMP SEEDING & MULCHING	3,636	SY	\$2.00	\$7,272.00	\$0.70	\$0.30	\$3,636.00	\$5.00	\$5.00	\$36,360.00	
	SUBTOTAL:				\$3,483,992.50	\$2,598,786.55		\$2		\$2,799,157.95		
SPEC	CONTINGENCY (15%)	1.00	LS		\$522,598.88	\$389,817.98				\$419,873.69		
	GRAND TOTAL:				\$4,006,591.38	\$2,988,604.53			\$3,219,031.64			
	% DIFFERENCE FROM ENGINEE	R'S ESTI	MATE					-25.4%	-19.7%			
	% DIFFERENCE WITHIN LO	WEST B	IDDER			n/a					7.7%	
	Contract	nce No.			34-1248942 (3/15/19, MAJ, 6588)			30	0-0160262 (11/21	/19, MAJ, 3956)		
						1. Sub inactive: Smith Paving (e-mailed).			1. Corrected rounding on contingency & grand			
						2. submitted generic Good Faith Effort			total. 2. no MBE listed. 3. Did NOT submit GFE			
				Bid book:		statement; no actual documentation.			documentation req'd in bid. 4. 2nd page of Form			
	SPEC SPEC SPEC SPEC SPEC SPEC SPEC SPEC	SPEC PERM. PAVEMENT REPL., TYPE I SPEC HEAT WELD SPEC SURVEY COORDINATES SPEC PROJECT I.D. SIGNS SPEC ASPHALT SPEED HUMP REPL. SPEC 2" COPPER TUBING & FITTINGS SPEC TEMP SEEDING & MULCHING SUBTOTAL: SPEC CONTINGENCY (15%) GRAND TOTAL: % DIFFERENCE FROM ENGINEE % DIFFERENCE WITHIN LO	Item#DescriptionQty.SPECPERM. PAVEMENT REPL., TYPE I 1,2111,211SPECHEAT WELD143SPECSURVEY COORDINATES1SPECPROJECT I.D. SIGNS12SPECASPHALT SPEED HUMP REPL.1SPEC2" COPPER TUBING & FITTINGS213SPECTEMP SEEDING & MULCHING3,636SUBTOTAL:SPECCONTINGENCY (15%)1.00GRAND TOTAL:"MULCHING OF AND TOTALS"% DIFFERENCE FROM ENGINEER'S ESTIONS OF THE PROPERTY OF THE PRO	Item#DescriptionQty.UnitSPECPERM. PAVEMENT REPL., TYPE I1,211CYSPECHEAT WELD143SYSPECSURVEY COORDINATES1LSSPECPROJECT I.D. SIGNS12EASPECASPHALT SPEED HUMP REPL.1EASPEC2" COPPER TUBING & FITTINGS213LFSPECTEMP SEEDING & MULCHING3,636SYSUBTOTAL:SPECCONTINGENCY (15%)1.00LS	Item# Description Qty. Unit Unit Price SPEC PERM. PAVEMENT REPL., TYPE I 1,211 CY \$295.00 SPEC HEAT WELD 143 SY \$150.00 SPEC SURVEY COORDINATES 1 LS \$10,000.00 SPEC PROJECT I.D. SIGNS 12 EA \$800.00 SPEC ASPHALT SPEED HUMP REPL. 1 EA \$3,750.00 SPEC 2" COPPER TUBING & FITTINGS 213 LF \$100.00 SPEC TEMP SEEDING & MULCHING 3,636 SY \$2.00 SPEC CONTINGENCY (15%) 1.00 LS GRAND TOTAL: ### Minimal Description ### Authorized Price ### Authori	Item# Description Qty. Unit Unit Price Extension SPEC PERM. PAVEMENT REPL., TYPE I 1,211 CY \$295.00 \$357,245.00 SPEC HEAT WELD 143 SY \$150.00 \$21,450.00 SPEC SURVEY COORDINATES 1 LS \$10,000.00 \$10,000.00 SPEC PROJECT I.D. SIGNS 12 EA \$800.00 \$9,600.00 SPEC ASPHALT SPEED HUMP REPL. 1 EA \$3,750.00 \$3,750.00 SPEC 2" COPPER TUBING & FITTINGS 213 LF \$100.00 \$21,300.00 SPEC TEMP SEEDING & MULCHING 3,636 SY \$2.00 \$7,272.00 SPEC CONTINGENCY (15%) 1.00 LS \$522,598.88 GRAND TOTAL: \$4,006,591.38 % DIFFERENCE FROM ENGINEER'S ESTIMATE % DIFFERENCE WITHIN LOWEST BIDDER Contract Compliance No. Contract Compliance No.	Item# Description Qty. Unit Unit Price Extension Materials	Naterials Labor	Tiem# Description Qty. Unit Unit Price Extension Materials Labor Extension	Naterials Labor Extension Materials Labor Extension Materials Labor Extension Materials	Time# Description	

Bid book: MBE: 1.3% FBE: 1.0%

2. submitted g	eneric Good F	aith Effort	total. 2. no MBE listed. 3. Did NOT submit GFE					
statement; no a	<mark>ictual docume</mark>	ntation.	documentation r	documentation req'd in bid. 4. 2nd page of Form				
			B12.3 missing (s	B12.3 missing (signature page).				
MBE:	Rath	2.3%						
FBE:	Kaui	2.5%	MBE:	K.Davis	2.3%			
-			FBE:] K.Davis				

Underground Utilities, Inc.

416 W. Monroe St.

P.O. Box 428

Monroeville, OH 44847

John A. Bores, President

(419) 465-2587

general@undergroundutilitiesinc.com

Beheler Excavating, Inc.

19545 Ankneytown Rd.

Fredericktown, OH 43019

Dustin Beheler

Charla Bowman

(740) 694-2303

charla@behelerexcavating.com

1/29/18: MT said Rath shows both MBE on the DAS website, but WBE on the Unified Certificatin Program website, they can be used for each goal, as long as their participation rate is at least at 2.3%.

1/29/18: MT said K. Davis shows both MBE on the DAS website, but WBE on the Unified Certificatin Program website, they can be used for each goal, as long as their participation rate is at least at 2.3%.

ORD #0429-2018, Division of Water Stephen Dr. Area Water Line Improvements C.I.P. No. 690236-100080, Contract No. 2055

Bid T	d Tabulation, Opened 1/24/18				Engineer's Estimate		Elite Excavating Co. of Ohio, Inc.			Danbert, Inc.		
Ref#	Item#	Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension
		PAVEMENT PLANING, ASPHALT										
1		CONCRETE	18,545	SY	\$2.50	\$46,362.50	\$1.00	\$1.40	\$44,508.00	\$0.00	\$2.60	\$48,217.00
		DRIVEWAY REPL. TYPE III A	_					4				
2		(ASPHALT)	3	CY	\$675.00	\$2,025.00	\$360.00	\$240.00	\$1,800.00	\$100.00	\$402.00	\$1,506.00
2		DRIVEWAY REPL. TYPE III B	20	CV	¢200.00	¢16,000,00	\$270.00	¢100.00	¢0,000,00	¢107.00	Φ 5 00 00	¢12 140 00
3		(CONCRETE) DRIVEWAY REPL. TYPE III C	20	CY	\$800.00	\$16,000.00	\$270.00	\$180.00	\$9,000.00	\$107.00	\$500.00	\$12,140.00
4		(GRAVEL)	16	CY	\$300.00	\$4,800.00	\$24.00	\$16.00	\$640.00	\$44.00	\$100.00	\$2,304.00
5		TACK COAT	2,782	GAL	\$3.50	\$9,737.00	\$1.00	\$1.00	\$5,564.00	\$1.00	\$1.00	\$5,564.00
3	407	ASPHALT CONCRETE SURFACE	2,702	UAL	ψ3.30	ψ2,737.00	φ1.00	ψ1.00	φ3,304.00	φ1.00	Ψ1.00	ψ5,504.00
		COURSE (MEDIUM TRAFFIC),										
6		PG64-22	773	CY	\$220.00	\$170,060.00	\$117.00	\$78.00	\$150,735.00	\$117.00	\$100.00	\$167,741.00
7	608	CONCRETE WALK (4")	2,850	SF	\$15.00	\$42,750.00	\$9.00	\$6.00	\$42,750.00	\$5.10	\$4.00	\$25,935.00
8		MAINTAINING TRAFFIC	1	LS	\$93,000.00	\$93,000.00	\$15,000.00	\$10,000.00	\$25,000.00	\$0.00	\$78,354.00	\$78,354.00
9	615	TEMPORARY PAVEMENT	4,320	SY	\$10.00	\$43,200.00	\$10.00	\$7.00	\$73,440.00	\$0.10	\$1.00	\$4,752.00
10	659	SEEDING & MULCHING	3,636	SY	\$6.00	\$21,816.00	\$3.00	\$2.00	\$18,180.00	\$0.55	\$1.00	\$5,635.80
11	801	6" WATER PIPE & FITTINGS	1,517	LF	\$125.00	\$189,625.00	\$66.00	\$44.00	\$166,870.00	\$51.00	\$50.00	\$153,217.00
12	801	8" WATER PIPE & FITTINGS	13,791	LF	\$115.00	\$1,585,965.00	\$54.00	\$36.00	\$1,241,190.00	\$55.00	\$50.00	\$1,448,055.00
		CONCRETE BLOCKING, CLASS C,										
13	801*	INCR OR DECR	115	CY	\$130.00	\$14,950.00	\$60.00	\$40.00	\$11,500.00	\$80.00	\$50.00	\$14,950.00
		DUCTILE IRON FITTINGS, INCR										
14		OR DECR	3,000	LBS	\$3.50	\$10,500.00	\$0.60	\$0.40	\$3,000.00	\$1.95	\$3.00	\$14,850.00
15		6" VALVE & APPURTENANCES	42	EA	\$1,600.00	\$67,200.00	\$800.00	\$500.00	\$54,600.00	\$494.00	\$1,000.00	\$62,748.00
16		8" VALVE & APPURTENANCES	27	EA	\$1,900.00	\$51,300.00	\$1,000.00	\$700.00	\$45,900.00	\$780.00	\$1,000.00	\$48,060.00
17		2" CURB STOP	1	EA	\$725.00	\$725.00	\$500.00	\$300.00	\$800.00	\$175.00	\$400.00	\$575.00
		3/4" WATER SERVICE TAP, XFR'D,			** -00.00		+=	4-00-00		****	+= 0000	****
18		SHORT	167	EA	\$1,500.00	\$250,500.00	\$700.00	\$500.00	\$200,400.00	\$145.00	\$700.00	\$141,115.00
		3/4" WATER SERVICE TAP, XFR'D,	122	T. 4	¢1 000 00	ф 22 0, 400, 00	Φ000 00	¢500.00	¢172 000 00	¢100.00	φ1. 7 00.00	\$ 2 40,507,00
19		LONG CURB BOX	133 300	EA EA	\$1,800.00	\$239,400.00	\$800.00	\$500.00	·	\$109.00		
20		C.I. FERRULE VALVE BOX &	300	EA	\$90.00	\$27,000.00	\$300.00	\$200.00	\$150,000.00	\$55.00	\$50.00	\$31,500.00
21		COVER	4	EA	\$115.00	\$460.00	\$300.00	\$200.00	\$2,000.00	\$61.00	\$30.00	\$364.00
22		FIRE HYDRANT	35	EA	\$3,300.00	\$115,500.00	\$1,400.00	\$1,000.00	·	\$1,166.00	\$1,000.00	\$75,810.00
23		6" HYDRANT EXT.	5	EA	\$400.00	\$2,000.00	\$225.00	\$150.00	· ·	\$70.00		·
24	810*	12" HYDRANT EXT.	5	EA	\$450.00	\$2,250.00	\$255.00	\$170.00		\$114.00	\$400.00	\$2,570.00
25	810*	18" HYDRANT EXT.	5	EA	\$500.00	\$2,500.00	\$270.00	\$180.00	\$2,250.00	\$134.00	\$400.00	\$2,670.00
26		24" HYDRANT EXT.	5	EA	\$550.00	\$2,750.00	\$300.00	\$200.00	·	\$173.00	\$400.00	\$2,865.00
		INCR OR DECR IN EXCAVATION			,22330	, 1,122100	,,,,,,,,	+=22300	, =,= 2 2 3 0 0	, = . = . = .	7	, _, = , = = 100
27		& BACKFILL	100	CY	\$55.00	\$5,500.00	\$21.00	\$14.00	\$3,500.00	\$0.00	\$47.00	\$4,700.00
28		CRUSHED STONE OR GRAVEL	50	CY	\$80.00	\$4,000.00	\$15.00	\$10.00	. ,	\$69.00	\$50.00	
29	816	2" WATER MAIN ABANDONED	1	EA	\$1,500.00	\$1,500.00	\$1,800.00		·	\$121.00	\$1,000.00	·
30	SPEC	SEDIMENT & EROSION CTRL	1	LS	\$30,000.00	\$30,000.00	\$900.00	\$600.00	\$1,500.00	\$571.00	\$5,000.00	\$5,571.00

Bid 7	Bid Tabulation, Opened 1/24/18					Engineer's Estimate		Elite Excavating Co. of Ohio, Inc.			Danbert, Inc.		
Ref#	Item #	Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension	
31	SPEC	PERM. PAVEMENT REPL., TYPE I	1,211	CY	\$295.00	\$357,245.00	\$150.00	\$100.00	\$302,750.00	\$117.00	\$100.00	\$262,787.00	
32		HEAT WELD	143	SY	\$150.00	\$21,450.00		\$48.00	. ,			\$8,580.00	
33	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$6,000.00	\$4,000.00	\$10,000.00	\$0.00	\$1,114.00	\$1,114.00	
34	SPEC	PROJECT I.D. SIGNS	12	EA	\$800.00	\$9,600.00	\$300.00	\$200.00	\$6,000.00	\$114.00	\$1,000.00	\$13,368.00	
35	SPEC	ASPHALT SPEED HUMP REPL.	1	EA	\$3,750.00	\$3,750.00	\$3,000.00	\$2,000.00	\$5,000.00	\$348.00	\$5,000.00	\$5,348.00	
36	SPEC	2" COPPER TUBING & FITTINGS	213	LF	\$100.00	\$21,300.00	\$48.00	\$32.00	\$17,040.00	\$24.00	\$20.00	\$9,372.00	
37	SPEC	TEMP SEEDING & MULCHING	3,636	SY	\$2.00	\$7,272.00	\$1.00	\$1.00	\$7,272.00	\$0.30	\$1.00	\$4,726.80	
		SUBTOTAL:				\$3,483,992.50			\$2,887,999.00			\$2,917,082.60	
38	SPEC	CONTINGENCY (15%)	1.00	LS		\$522,598.88			\$433,199.85			\$437,562.39	
		GRAND TOTAL:				\$4,006,591.38	\$3,321,198.85			\$3,354,644.99			
		% DIFFERENCE FROM ENGINEER'S ESTIMATE					-17.1%			-16.3%			
		% DIFFERENCE WITHIN LOWEST BIDDER					11.1%			12.2%			
		Contract Compliance No.					20-1643186 (6/22/19, MAJ, 1064)			Not evaluate			
							1. Met all DBE g	goals but did not	submit GFE				

requested in bid.

Bid book: MBE: 1.3% FBE: 1.0%

MBE:	Bridges Bros.	1.3%
FBE:	K. Davis	1.0%

Elite Excavating Co. of Ohio, Inc. 4500 Snodgrass Rd.
Mansfield, OH 44903
(Michael) Scott Fulmer - President Dale A. Stevens, Secy (419) 683-4200
eliteexcavating@aol.com

ORD #0429-2018, Division of Water Stephen Dr. Area Water Line Improvements C.I.P. No. 690236-100080, Contract No. 2055

Bid 7	abula	tion, Opened 1/24/18		Engineer's Estimate		Darby Creek Excavating, Inc.			Shelly & Sands, Inc.			
Ref#		Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension
1		PAVEMENT PLANING, ASPHALT CONCRETE	18,545	SY	\$2.50	\$46,362.50	\$0.00	\$2.02	\$37,460.90	\$0.00	\$3.00	\$55,635.00
2		DRIVEWAY REPL. TYPE III A (ASPHALT)	3	CY	\$675.00	\$2,025.00	\$300.00	\$300.00	\$1,800.00	\$500.00	\$500.00	\$3,000.00
3		DRIVEWAY REPL. TYPE III B (CONCRETE)	20	CY	\$800.00	\$16,000.00	\$300.00	\$300.00	\$12,000.00	\$325.00	\$325.00	\$13,000.00
4		DRIVEWAY REPL. TYPE III C (GRAVEL)	16	CY	\$300.00	\$4,800.00	\$30.00	\$30.00	\$960.00	\$112.50	\$112.50	\$3,600.00
5	407	TACK COAT ASPHALT CONCRETE SURFACE	2,782	GAL	\$3.50	\$9,737.00	\$1.25	\$1.25	\$6,955.00	\$1.40	\$1.40	\$7,789.60
6		COURSE (MEDIUM TRAFFIC), PG64-22	773	CY	\$220.00	\$170,060.00	\$100.00	\$100.00	\$154,600.00		\$97.00	\$149,962.00
7 8		CONCRETE WALK (4") MAINTAINING TRAFFIC	2,850	SF LS	\$15.00 \$93,000.00	\$42,750.00 \$93,000.00	\$5.00 \$44,000.00	\$5.00 \$150,000.00	\$28,500.00 \$194,000.00	\$4.50 \$20,000.00	\$4.50 \$298,000.00	\$25,650.00 \$318,000.00
9	615	TEMPORARY PAVEMENT	4,320	SY	\$10.00	\$43,200.00	\$1.00	\$1.00	\$8,640.00		\$1.25	\$10,800.00
10	659	SEEDING & MULCHING	3,636	SY	\$6.00	\$21,816.00	\$2.00	\$2.00	\$14,544.00		\$0.75	\$5,454.00
11	801	6" WATER PIPE & FITTINGS	1,517	LF	\$125.00	\$189,625.00	\$66.00	\$42.00	\$163,836.00	\$47.50	\$47.50	\$144,115.00
12		8" WATER PIPE & FITTINGS	13,791	LF	\$115.00	\$1,585,965.00	\$68.00	\$42.00	\$1,517,010.00	\$43.50	\$43.50	\$1,199,817.00
13	801*	CONCRETE BLOCKING, CLASS C, INCR OR DECR	115	CY	\$130.00	\$14,950.00	\$37.50	\$37.50	\$8,625.00	\$63.50	\$63.50	\$14,605.00
14	801*	DUCTILE IRON FITTINGS, INCR OR DECR	3,000	LBS	\$3.50	\$10,500.00	\$0.50	\$0.50	\$3,000.00			\$8,400.00
15		6" VALVE & APPURTENANCES	42	EA	\$1,600.00	\$67,200.00	\$600.00	\$400.00	\$42,000.00	·		\$50,400.00
16		8" VALVE & APPURTENANCES	27	EA	\$1,900.00	\$51,300.00	\$800.00	\$500.00	\$35,100.00	\$750.00	\$750.00	\$40,500.00
17		2" CURB STOP	1	EA	\$725.00	\$725.00	\$400.00	\$200.00	\$600.00	\$312.50	\$312.50	\$625.00
18		3/4" WATER SERVICE TAP, XFR'D, SHORT	167	EA	\$1,500.00	\$250,500.00	\$320.00	\$400.00	\$120,240.00	\$850.00	\$850.00	\$283,900.00
19	805	3/4" WATER SERVICE TAP, XFR'D, LONG	133	EA	\$1,800.00	\$239,400.00	\$600.00	\$600.00	\$159,600.00	\$950.00	\$950.00	\$252,700.00
20		CURB BOX	300	EA	\$90.00		\$60.00	\$15.00	· · · · · · · · · · · · · · · · · · ·			\$18,000.00
21		C.I. FERRULE VALVE BOX & COVER	4	EA	\$115.00	\$460.00	\$60.00	\$15.00	\$300.00			\$520.00
22		FIRE HYDRANT	35	EA	\$3,300.00	\$115,500.00	\$2,310.00	\$500.00	\$98,350.00			\$85,750.00
23		6" HYDRANT EXT.	5	EA	\$400.00	\$2,000.00	\$242.00	\$15.00	\$1,285.00	,	\$325.00	\$3,250.00
24	810*	12" HYDRANT EXT.	5	EA	\$450.00	\$2,250.00	\$287.00	\$15.00	\$1,510.00		\$350.00	\$3,500.00
25	810*	18" HYDRANT EXT.	5	EA	\$500.00	\$2,500.00	\$306.00	\$15.00	\$1,605.00			\$3,750.00
26		24" HYDRANT EXT.	5	EA	\$550.00	\$2,750.00	\$345.00	\$15.00	\$1,800.00	\$400.00	\$400.00	\$4,000.00
27		INCR OR DECR IN EXCAVATION & BACKFILL	100	CY	\$55.00	\$5,500.00	\$0.00	\$5.00	\$500.00	\$16.00	\$16.00	\$3,200.00
28	815	CRUSHED STONE OR GRAVEL	50	CY	\$80.00	\$4,000.00	\$30.00	\$30.00	\$3,000.00	\$32.50	\$32.50	\$3,250.00
29	816	2" WATER MAIN ABANDONED	1	EA	\$1,500.00	\$1,500.00	\$400.00	\$1,100.00	\$1,500.00	\$650.00	\$650.00	\$1,300.00
30	SPEC	SEDIMENT & EROSION CTRL	1	LS	\$30,000.00	\$30,000.00	\$17,500.00	\$20,000.00	\$37,500.00	\$13,500.00	\$13,500.00	\$27,000.00

Bid 7	Fabulat	tion, Opened 1/24/18		Engineer's Estimate		Darby Creek Excavating, Inc.			Shelly & Sands, Inc.			
Ref#	Item#	Description	Qty.	Unit	Unit Price	Extension	Materials	Labor	Extension	Materials	Labor	Extension
31	SPEC	PERM. PAVEMENT REPL., TYPE I	1,211	CY	\$295.00	\$357,245.00	\$125.00	\$125.00	\$302,750.00	\$100.00	\$100.00	\$242,200.00
32	SPEC	HEAT WELD	143	SY	\$150.00	\$21,450.00	\$30.00	\$30.00	\$8,580.00	\$30.00	\$30.00	\$8,580.00
33	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$0.00	\$15,000.00	\$15,000.00	\$1,000.00	\$20,000.00	\$21,000.00
34	SPEC	PROJECT I.D. SIGNS	12	EA	\$800.00	\$9,600.00	\$400.00	\$400.00	\$9,600.00	\$250.00	\$250.00	\$6,000.00
35	SPEC	ASPHALT SPEED HUMP REPL.	1	EA	\$3,750.00	\$3,750.00	\$750.00	\$750.00	\$1,500.00	\$2,500.00	\$2,500.00	\$5,000.00
36	SPEC	2" COPPER TUBING & FITTINGS	213	LF	\$100.00	\$21,300.00	\$40.00	\$40.00	\$17,040.00	\$45.00	\$45.00	\$19,170.00
37	SPEC	TEMP SEEDING & MULCHING	3,636	SY	\$2.00	\$7,272.00	\$1.00	\$1.00	\$7,272.00	\$0.45	\$0.45	\$3,272.40
		SUBTOTAL:				\$3,483,992.50	\$3,041,062.90			\$3,046,695.00		
38	SPEC	CONTINGENCY (15%)	1.00	LS		\$522,598.88	\$456,159.44					\$457,004.25
		GRAND TOTAL:				\$4,006,591.38			\$3,497,222.34			\$3,503,699.25
		% DIFFERENCE FROM ENGINEER'S ESTIMATE					-12.7%			-12.6%		
		% DIFFERENCE WITHIN LOWEST BIDDER					17.0%			17.2%		
		Contract	Complia	nce No.			ed since not within 10% of lowest bidder (Underground Utilities)					

Bid book: MBE: 1.3% FBE: 1.0% **General Info**

Number: 690236-100080

Stephen Drive Area Water Line Improvements Project

Description: WSRLA Funded

Deadline: 2018-01-24 20:00:00 UTC

Bids		
Business	Bid Total	Signed by
Underground Utilities, Inc.		\$2,988,604.53 John Bores
Beheler Excavating Inc		\$3,219,031.63 Dustin Beheler
Elite Excavating Co. of Ohio, Inc.		\$3,321,198.85 Dale Stevens
Danbert, Inc		\$3,354,644.99 Matthew Lemon
Darby Creek Excavating, Inc		\$3,497,222.34 Kevin Steward
Shelly & Sands, Inc.		\$3,503,699.25 Jeff Schultz